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He = 4.5 x CFM x Jh (CHANGE IN HEAT CONTENT)
= —_Ht
9FM 4.5 x Ah
‘ah = Mt
. 4.5 x CFM
SENSIBLE HEAT
Hs = 1.08 x CFM x At (CHANGE IN D8 TEMPERATURE)
= —_Hs
CFm = 1.08 x At
= - Hs
4t = 08 xCEM
LATENT HEAT
Hy = .68 x CFM x Aw (CHANGE IN GRAINS OF WATER)
= — He
CFM = .68 x Aw
H
—_—t
aw 68 x CFM

-MIXED AIR DB = INDOOR DB + (% FRESH AIR} x
(OUTDOOR DB MINUS INDOOR D8)

MIXED AIR DB — INDOOR DB
% FRESH AIR = OUTDOOR DB — INDOOR DB

% of FRESH AIR

At between mixed air D.B. & return air D.B.
(at between fresh\air\D.B. & return air D.B.)

% of Fresh Air =

example: 50°Fresh air, 75 return air, 70 mixed air
' 5/25=20%

Mix Air Dry Bulb

Cooling
Mixed air D.B. = Return air D.B. + [% of Fresh Air X (At between fresh air D.B. & return air D.8)]
example: 100°Fresh air, 75° return air, 15% fresh air desired

100°-75°=25° .15 X 25°=3.75 75 +3.75 = 79° Mixeq air temp
Heating B

Mixed air D.B. = Retum air D.B. - [% of Fresh Air X (At between fresh air Dzé & return air D.B.)]

example: 50°Fresh air, 75° return air, 15% fresh air desired '
: 50°-75°=25° .15 X 25°=3.75 75 - 3.75 = 71 ° Mixed a:rtemp





